3 (Sem-5) ASM M 2

ﬂ"'\un\l'd Doy 3*‘ :

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks

for the questions

> 1 fS oL Te forar >xq=9
(F) ‘Aigaa Qs AT 391 Memr 6 &2

(=)
(o)

(%)
()
(®)

(=)

A7/80

‘FARMSI'T 2] GHEAT S (@A FUACOE
o & 3fer Sy sz 2

‘GF-CRI TR (e 3Feld e G|’
2 3 R txr?

SIS TR S 2
FULR fiTo I[N TR TG @I BT 2

I BIRRE TS T 4 SART S
‘coifoet®’ <1 AgeifEEE w1y & 9

A INADI AR TGN T2 61 F A
G - PSS 2% A o |

( Turn Over)



(2) (3)

21 TILS Teq e | yx8=¥ (9) ‘TR e SEe WeEe 399 vRed [T

Tz 590 el
(F) T UF QRS Ce 7R [ Rt c@m R i)
S e i AW B4 | (&) =Pl sm-sMfkem Rerta @itne R RveR)
TR SRmIE aca o |

(%) “fRaror frsfia e, o @w @i e

TR ARE 7 SURRE SEEER [ S 81 (%) Tad dferrs ol WTH-Fome iR Zreq o
Trad 41 | R fr s Fat B R o o gaa ofs
mﬁ:@@m, %:ﬂ| So
() ‘“RTm ol S =FE 1 @I, I
CfeE 2 w1337
FARNSI'T (SR AT SAeS STTE 04
(7) “far@ @E’T ErvFaas M o CafR1Z T SCeDe Y@ 9 | S0
(%) “FR T T A W AR A 2 SR
o | & @ foFe g49 Teq e - exe=5¢ @T“QT,‘WWWWWWI -
(F) “oEE, wRE-Ae e ', Feoe i
TR~ (oA 1”7 FURR A, I (R ? T B ,
;ﬁmﬁ\b{wm e ferfd s Y @i ﬂ“ﬁﬁﬁﬁwmm_”; faoRr w@&rs zm 3
|
() ‘TEE @I wewe wubrm RS
() I TR TS ACRE A Tolerres S 25E <efe | so
ey & B 99m Sy s, 9
12T
(o) ‘o-CTI EW'T ARES CoiARD face e @R T “ar e @ - we S5
Ay M 4 I PR 90 ARFA0RR RN Reacw forn o 30
7[R Sfe-ged a7 fve @RR SEErEe 49
wfeaE A (F @R IR a6 T4 | * &k
A7—9000/80 -
( Continued ) / 3 (Sem-5) ASM M 2

A7/80



